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Answer either in English or in Assamese.

1. Answer the following questions : 1x8=8
Reffde et Yes W ¢
(a) State the law of demand.
siften RS I 0
(b) What is a market?
Ieiq 2

(0 What is market supply ?
ISR (ot =52

(d) What is inflation ?

Tareite &2
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(e) What are the components of aggregate
demand ?

Aids vifzwir R 2

(f/) In the consumption function what is
total consumption when income 1is
Zero ?

(Ol FENS SR X TS (SisiF Al fese

(g0 Give an example of progressive taxation
in the context of India.

SR (AFHe FARAN T4 Qi[Fe Trizad
|

(h) Deﬁné fiscal deficit in a bu-dget.
JcEos RS Qifve g |

2. Answer any six of the following questions.
2x6=12

fAsfie eMiR] e 5619 ©el ¢

(@) What is meant by economic efficiency ?

gfafes wroR 9y 52

(b) Define Marginal Rate of Transformgtion
(MRT).

sifiTS ANfTd ] g Al
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(c/ Why is a firm said to be a ‘price taker’
in perfect competition ?

5 efsraiaere @uq efsvie o wa oz
M (e T 2

(d) Explain briefly the concept of
consumers’ surplus with a suitable
example.

<O ﬂ?ﬂaf@m@%“cﬂr@m@g@mm
BT I F4A |

(e) Give Hicks’ definition of income.
23R o it e 4|

() What constitute the domestic territory
of a country?

QI WWW%T%%W@"

(g9 What is the condition for equilibrium
In an economy ?

Q2 SqIfol SIFeATE 56 F2

(h) InterpretY = C + I 1n the ex-ante sense.

Y = C + 13 ooif¥oed il 341 |

() When is a tax said to be buoyant?
GRY IIF, (ol URE FIo! TS Qe
247
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() Differentiate between a direct tax and
an indirect tax.

AOPF T WIE AT 9 A1 e

3. Answer any four of the following questions :
Sx4=20

RS enEs [t sifdore Ser ¢

(@) Point out the distinction between shifts
in the demand curve and movements
along a demand curve.

BIfznl (SR IR ([AMITETE IS Bifd! ema
A (FYS |

(b) What is meant by cross price elasticity
of demand ? What will be the sign of
the elasticity in cases when the two
goods are of substitutes and when they
are compliments ? 3+2=3

siltv o8 w1 Rfegisimsl e &
o ? e wiF AfRses iR crae a7
FEfsgeieor oz & 792

(c) Bring out the main points of distinction

between a perfectly competitive market
and monopoly.

ﬁ#ﬁmﬁwmwam
maﬁwﬁm@mﬂW|
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(d) How is the market demand curve
derived from the individual demand
curve ? Explain diagrammatically.

gieste sifent @R #i]1 ITR HIfARA @FEE
_%ﬁ\em AN ? BI TS I 9 | -

(e) Define unemployment. How is the
unemployment' rate calculated ?
_ 2+3=5
i k= | (AR 2R (@i Sl
R @1%1\3211 2?2

(/ What is a Multipliér'? [llustrate 1its

operation usmg an illustrative example.
2+3=5

@ 2 W%W—Wmaﬁzmﬂm
0|

(g9 What is ‘tax’? Mention a few important
features of taxation. 1+4=5

T Fe o1 w37 @FE SEm =

(h) Explain regressive taxation with the
help of a diagram. State two merits of
regressive taxation.. 3+2=5
oo QTS FUAZPTIN IS QIR I 91 1 92
FI9 701 R4 S I
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4. Answer any two of the following questions :
10x2=20

fFfeie exprges fcerar gorg el o s

(a) Explain the idea of opportunity cost.
Define and draw Production Possibility
Curve (PPC)? What do points outside
and points inside the PPC signify ?

3+3+4=10

LA AT QIR G T | BAMN FSRAT ([FAR
ke v oa wiFt O3 @ImMER AR =i

foos R & sprae

(b) Explain how equilibrium is determined
in a competitive market ? Under what
conditions will the equilibrium be
stable ? - 7+3=10

AfScaivenE ITTe Sy & 7@ Railks
W A ]| T 59 @3 s JfEe T3

(c) Describe the circular flow of Income in
an economy.

@3 GHLFIfow SRR JSEIW 21T 369 T4 |

(d) Distinguish between the current
account and the capital account of the
balance of payment. Describe the
componernts of the current account.

4+6=10
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T Tye vlere Zpie o ELR) BoieR
ALF] I 90 | vfere Bpivlr SR [
|

(e) Describe the structure of a budget. How
1s the revenue account different from
that of the capital account? 6+4=10

Weﬁzﬁaﬁ«qﬁwmfiﬂﬂﬂﬁ@
fzpIeitoee & @ @ceel 2
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